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KATASTRÁLNÍ PARCELA   

OKRES:              

BENEŠOV

BENEŠOV

KATASTRÁLNÍ ÚZEMÍ   
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C.2.3

STAVEBNÍ ČÁST

OBJEKTY KOMUNIKACÍ

Vypracoval

Tech. kontrola

Název části:

Č. přílohy:

Měřítko

Stupeň

Datum

Zak. číslo

Zodp. projektant

Zhotovitel:

Název stavby:

Počet formátů

12000 Praha 2, Sokolská 32

tel: 296 337 111

fax: 296 337 100

satra@satra.cz

Paré:

Ing. Martin Laloušek

Ing. Martina Křečková

Objednatel stavby:

Souřadnicový systém S-JTSK, Výškový systém Bpv

Hlavní inženýr projektu: Ing. Martin Laloušek

Zhotovitel:

SATRA, spol. s r.o.

Sokolská 32

120 00 Praha 2

Česká republika

09/2018

DSP

Město Benešov

Masarykovo náměstí 100

256 01 Benešov

Česká republika
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